How to Install the X Endstop and Wire Ha... Guide ID: 124 - Draft: 2017-04-14

©
IMADE

How to Install the X Endstop and Wire Harness

VARV

(I

This document was generated on 2021-12-21 01:06:41 AM (MST).
© 2021 docs.imade3d.com/ Page 1 of 3



How to Install the X Endstop and Wire Ha... Guide ID: 124 - Draft: 2017-04-14

Step 1 — Install the X Endstop and Wire Harness

e M3 Nylock

e M3 Regular washer

e '"'LONG" green stand-off
@ X Assembly Acrylic pieces

e M3 Regular washer

o MB3x60 socket head screw

Step 2

e M2x16 socket head screw

o M2 regular nuts

o M2 regular washers (on the acrylic side)

This document was generated on 2021-12-21 01:06:41 AM (MST).
© 2021 docs.imade3d.com/ Page 2 of 3



How to Install the X Endstop and Wire Ha... Guide ID: 124 - Draft: 2017-04-14

Step 3

e M3 Nylock

e M3 Regular washer

e SHORT green stand-off
e Xcarriage

e M3 Regular washer

@ MB3x45 socket head screw

This document was generated on 2021-12-21 01:06:41 AM (MST).
© 2021 docs.imade3d.com/ Page 3 of 3



	How to Install the X Endstop and Wire Harness
	Step 1 — Install the X Endstop and Wire Harness
	Step 2
	Step 3


